Yes, you may write on this handout!

30 pts. total.  Short Essays are 3 pts. each.

Name:  ________________________  Per. _______  Date: _______  Assign. #: _______

CP Psychology - Module 3 + 4 Practice Questions
Multiple Choice - These should be more or less in order from your text.
Identify the letter of the choice that best completes the statement or answers the question.

1.
Rod Plotnik begins with the example of Alzheimer's disease to illustrate the:

A.
sad fact that the brain inevitably wears out

B.
hope offered by a new operation for those afflicted with the disease

C.
type of disease that could be prevented if people would take care of themselves

D.
key importance of the building blocks that make up the brain's informational network


2.
Which of the following is currently not suspected to be a cause of Alzheimer's disease?

A.
genetic factors

B.
brain injury from accidents

C.
neurological abnormalities

D.
environmental factors


3.
A neuron is a brain cell that:

A.
determines the sex of the individual

B.
receives and transmits electrical signals

C.
looks likes a small wrinkled melon

D.
coats and protects the brain


4.
Research shows that as a mature male canary relearns a breeding song, there is at least a _______ in the areas of the brain that control singing.

A.
5% increase

B.
25% increase

C.
50% increase

D.
50% decrease


5.
Consider this: You are a full-grown neuron in a brain that is damaged. What happens to you?

A.
I can repair only if the damage is limited to the brainstem.

B.
I can repair because brain cells have a great capacity to recover from damage.

C.
I don't repair since healing glial cells release an enzyme that destroys me.

D.
I have a limited capacity to repair since my genetic program turns off regrowth.


6.
Dendrite is to _________ as axon is to ________.

A.
PNS; receive

B.
CNS; transmit

C.
fast; slow

D.
receive; transmit


7.
A psychology instructor is lecturing on the processes and mechanisms of messages in the nervous system. She has come to the part on the action potential. Which example should she use to illustrate the idea of a nerve impulse?

A.
how a washer cleans clothes

B.
"The Wave" at a sports stadium where sections of fans stand up and then sit down

C.
a bright flash of light

D.
a merry go-round

 


8.
During an action potential, the inside of the axon becomes _____ and the outside becomes ______.

A.
negative; positive

B.
positive; negative

C.
positive; positive

D.
negative; neutral


9.
Larry suffers from a degenerative disorder that is causing the myelin in his brain to disintegrate. How is this likely to affect transmission of nerve impulses?

A.
The messages are likely to slow down

B.
The messages are likely to speed up

C.
There should be no effect since myelin can rapidly repair itself

D.
The messages will initially slow down, but then later will speed up


10.
After the release of neurotransmitters in the synapse, neurotransmitters cross the synapse and:

A.
fit into specially designed axons

B.
cause the second neuron to open its chemical locks

C.
cause the process known as reuptake

D.
fit into specially designed receptors located on the second neuron's dendrites


11.
A patient suffers damage to the nervous system. He can move his hands, but he does not feel anything with them. Which explanation is the neurologist most likely to offer?

A.
efferent neurons are damaged

B.
the reflex arc is damaged

C.
afferent neurons have been damaged

D.
Alzheimer's disease


12.
Cocaine causes its effects of physiological arousal and feelings of euphoria by:

A.
preventing reuptake from occurring

B.
blocking receptors thereby preventing neurotransmitters from affecting the neuron

C.
its similar chemical makeup to norepinephrine

D.
increasing the amount of dopamine released into the synapse


13.
A purified form of _____ is used to induce muscle paralysis in humans to allow a breathing tube to be inserted down a patient's throat.

A.
curare

B.
cocaine

C.
dopamine

D.
mescaline


14.
In treating Parkinson's disease, fetal brain tissue:

A.
can take the place of myelin

B.
can produce acetylcholine

C.
can make new connections in the patient's brain

D.
has little effect


15.
The most common cause of an inherited development disorder is:

A.
autism

B.
Broca's aphasia

C.
fragile X syndrome

D.
Down syndrome


16.
Based on fMRI scans, what part of the brain is especially active while watching a funny TV program?

A.
hypothalamus

B.
cerebellum

C.
right frontal area

D.
amygdala


17.
Positron Emission Tomography (PET) differs from Magnetic Resonance Imaging (MRI) in that a PET scan:

A.
studies the structure of the brain

B.
studies the function of the brain

C.
uses radio frequencies

D.
identifies spinal cord injuries


18.
The part of the brain that directly allows you to contemplate the answer to this question is the:

A.
hindbrain

B.
midbrain

C.
forebrain

D.
cerebellum


19.
The brain area that most distinguishes us from animals is the:

A.
thyroid

B.
cerebellum

C.
pons

D.
cortex


20.
Of the following functions, which is not a function of the frontal lobe?

A.
performing voluntary movements

B.
processing sensory information from parts of the body

C.
paying attention

D.
executing plans


21.
If you are right-handed, chances are your Broca's area is located in the _____ and Wernicke's area is located in the _____.

A.
temporal lobe; left hemisphere

B.
frontal lobe; right hemisphere

C.
temporal lobe; frontal lobe

D.
left hemisphere; left hemisphere


22.
Mike's visual association area on the right hemisphere is damaged. The doctors have diagnosed him with neglect syndrome. What can his family expect from Mike's neurological problem?

A.
Mike's failure to see things on the left side

B.
problems with understanding speech spoken from the right side

C.
an inability to recognize people

D.
blindness


23.
Which of the following regulates growth through secretion of growth hormone?

A.
pancreas

B.
gonads

C.
thyroid

D.
anterior pituitary


24.
The right hemisphere of the brain is better at _________ tasks, whereas the left hemisphere is better at ________ tasks.

A.
mathematical; spatial

B.
nonverbal; verbal

C.
analytic; holistic

D.
visual; auditory


25.
When you are reading a novel, what hemisphere are you using?

A.
impossible to know

B.
right hemisphere

C.
left hemisphere

D.
both

True/False
Indicate whether the sentence or statement is true or false.

26.
Glial cells are the most numerous brain cells.

27.
The space between neurons is called the synapse.

28.
As the action potential is traveling down the axon, it can increase or decrease in speed.

29.
The nerve impulse is called an action potential.

30.
The relationship between a neurotransmitter and receptor is like a key and lock.

31.
Interneurons make connections between other neurons.

32.
Cocaine blocks the release of neurotransmitters from the end bulbs.

33.
Curare mimics the neurotransmitter acetylcholine.

34.
Parkinson's disease involves the neurotransmitter dopamine.
Short Answer:  Please answer the following questions on your own paper.  

3 sentence paragraph each!  3 pts. each.

35.
Describe what Sperry meant when he said that the brain is like a coin with two sides. What are the two sides and what is their relationship?

36.
Briefly explain the function of the cell body, dendrites, axon, myelin sheath, and end bulbs. Make sure to specify where the structures are located.

37.
Contrast the peripheral nervous system and central nervous system.

38.
Describe the mechanism by which cocaine affects neurotransmitters.

39.
Discuss why stem cells could be potentially used to treat Parkinson’s disease.

